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 BECC-106  

B.A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 

December, 2021  

BECC-106 : INTERMEDIATE MACROECONOMICS – I  

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions from all the sections as per 

instructions.   

SECTION A 

Answer any two questions from this section in about 

500 words each.  220=40 

1. Explain how the Aggregate Demand (AD) curve 

can be derived from the IS-LM curves. What are 

the factors on which the slope of the AD curve 

depends ?   

2. Describe the role and nature of financial 

markets. Distinguish between the various types 

of financial markets.  

3. Determine the equilibrium conditions for 

Balance of Payments (BoP) using the IS-LM 

framework.  

4. Explain how an expansionary monetary policy 

affects income and interest rate in the long run 

under a flexible exchange rate system. 
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SECTION B 

Answer any four questions from this section in about 

250 words each. 412=48 

5. What is the shape of the Aggregate Supply (AS) 

curve in an economy ? Briefly describe. 

6. Explain the concept of adaptive expectations 

with the help of appropriate equations. What 

are its advantages and  limitations ? 

7. Give a brief account of the policy ineffective 

proposition concerning the Lucas supply curve. 

8. What is meant by financial derivatives ? 

9. What is a foreign exchange market ? Explain 

how equilibrium in the foreign exchange market 

takes place. 

10. Discuss the conditions under which the 

Dornbusch overshooting model works. 

11. Explain how fiscal policy can lead to crowding 

out of private investment. 
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SECTION C 

12. Write short notes of any two of the following in 

about 100 words each :  26=12 

(a) Balance of Trade 

(b) Natural Rate of Unemployment 

(c) Limitations of Rational Expectations 

Hypothesis  

(d) Net Exports Function 
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 ~r.B©.gr.gr.-106  

 ~r.E. (Am°Zg©) AW©emñÌ 
(~r.E.B©.gr.EM.) 

gÌm§V narjm 

{Xgå~a, 2021 

~r.B©.gr.gr.-106 : _Ü`dVu g_{ï> AW©emñÌ – I 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : g^r ^mJm| Ho$ {ZX}emZwgma àíZm| Ho$ CÎma {b{IE & 

^mJ H$  

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 
_| Xr{OE : 220=40 

1. g_PmBE {H$ IS-LM dH«$m| go {H$g àH$ma g_J« _m±J (AD) 

dH«$ H$s ì`wËn{Îm H$s Om gH$Vr h¡ & g_J« _m±J (AD) dH«$ 
Ho$ T>bmZ Ho$ {bE H$m¡Z-go H$maH$ CÎmaXm`r h¢ ? 

2. {dÎmr` ~mµOmam| H$s ^y{_H$m Am¡a àH¥${V H$m dU©Z H$s{OE & 
{d{^Þ àH$ma Ho$ {dÎmr` ~mµOmam| Ho$ ~rM A§Va ñnï>  
H$s{OE & 

3. IS-LM ê$naoIm H$m Cn`moJ H$aHo$ ^wJVmZ eof (BoP) H$s 
g§VwbZ H$s pñW{V`m| H$mo {ZYm©[aV H$s{OE & 

4. g_PmBE {H$ XrK©H$mb _|, bMrbr {d{Z_` Xa àUmbr Ho$ 
A§VJ©V, {dñVm[aV _m¡{ÐH$ Zr{V Am` VWm ã`mO Xa H$mo 
{H$g àH$ma à^m{dV H$aVr h¡ ? 
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^mJ I 
Bg ^mJ _| go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| 
(àË`oH$) _| Xr{OE & 412=48 

5. EH$ AW©ì`dñWm _| g_J« ny{V© (AS) dH«$ H$m AmH$ma Š`m 

hmoVm h¡ ? g§jon _| dU©Z H$s{OE & 

6. Cn`wº$ g_rH$aUm| H$s ghm`Vm go AZwHy$br àË`memAm|  H$s 

AdYmaUm H$mo g_PmBE & Bg AdYmaUm Ho$ bm^ Am¡a 

gr_mE± Š`m h¢ ? 

7. bwH$mg Ho$ Amny{V© dH«$ Ho$ g§~§Y _| Zr{V Aà^m{dVm H$WZ 

H$m g§{jßV {ddaU Xr{OE & 

8. {dÎmr` ì`wËnmXm| go Š`m VmËn`© h¡ ? 

9. {dXoer _wÐm ~mµOma Š`m h¡ ? g_PmBE {H$ {dXoer _wÐm 

~mµOma _| g§VwbZ {H$g àH$ma àmßV hmoVm h¡ & 

10. CZ pñW{V`m| H$s MMm© H$s{OE {OZHo$ A§VJ©V S>m°Z©~we H$m 

A{Vb§KZ à{V_mZ (AmodaeyqQ>J _m°S>b) H$m`© H$aVm h¡ & 

11. g_PmBE {H$ H¡$go amOH$mofr` Zr{V {ZOr {Zdoe H$mo H«$mCS> 

AmCQ> H$a gH$Vr h¡ & 
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^mJ J 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na bJ^J 100 eãXm| 

(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE & 26=12 

(H$) ì`mnma eof 

(I) ~oamoµOJmar H$s àmH¥${VH$ Xa 

(J) {ddoH$erb àË`mem n[aH$ënZm H$s gr_mE± 

(K) ewÕ {Z`m©V \$bZ 


